242 Lehyw?

=
=

8.603

Hat

<

8595 191 955 8595
900 20 111 009

8603
999



ZEY

rlo

( ) = (5x = 2y) = 2x + yoll A ( ) ol &gt

® -3x-y @ -3x+y ® —3x-2y

@ 7x-y ® 7x+2y



3. (2x-5y—1)+ (3x -3y +2) = 7+}3] 51H?

@D 2x-3y+2 @ 2x+5y-1 ® 5x—6y+4

@ 5x-8y+1 ® 5x—-5y+3



(

-5 ta=4+bx+21 LW, a+b 2 F2? (Ha bE

D -24 @ -11 ® 3 @ 8 ® 19



5. mAFTF2 R AT A 2x =4y —6ZF ax+by+c =0 EE
AW a+b+co 27 (Ha>0)

@D 1 @ 3 B 4 @ 7 ® 9



10 8 o of#z] 9] o] & obF 1ol ] 3 vt 4 4 Artal jict.

@A) b9 Lol Z x A, o}5 9] o] & y Atoleti & 1, o] &
o247} 2 Q) AApE A0 2 Lrehy?

D x+10=3y-4 @ x-10=3(y-10)+4
® x+10=3(y+10) -4 @ x-10=3(y-10) -4

® 3(x+10)-4=y+10



oS & A2 A 5x -3y =2 ©] 2 BE 12W? (2 )

7.

@ (2,3) ® (3,4) @ (4,6) ® (5,8)

@ (1,1)



A ax + 5y = 119 27}

ks

27}

ol

3 0 @ 1

® 3



AR5

@ 177

A 3x+4<15-—x 2 HH=E

® 277

3 370

A7) AA50] g

@ 4 7N ® 5 7



2(x+1) <6 2 SHE 24 flofl vh=A Yepd 222

@



11. A<B<CZEJEANE =

of
0 A<B [A<B 3 A<C

oE ALT

A<C B<C B<C
B<A
B<C

A<B
C<B






= o

I
<

oA

—

0

olJ

@ -12 B -3

® 12

15

18



14.

Q1%
=

o]
=

@D

PEAAL x4 by +c = 0 ©] 2] x AHo] 4 o], y Ao

,b+c o g2?

-2 @ 0

12



A (1, 3)

15.

@ y=3 @ x=1

Dy=1

— |

®y=

@ x=3



